International Management, 7e (Deresky)

Chapter 1: Assessing the Environment Political, Economic, Legal, Technological

1) Which of the following is characterized by networks of international linkages that bind countries, institutions, and people in an interdependent global economy? 

A) ethnocentrism

B) nationalization

C) governmentalism

D) globalization

Answer:  D
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2) All of the following factors contribute to globalization EXCEPT ________. 

A) advancements in technology

B) rise of developing economies

C) higher number of trade restrictions

D) increased flow of labor and capital 

Answer:  C
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3) Which of the following is the most highly globalized in regards to economic integration, technological connectivity, personal contact, and political engagement?

A) Singapore

B) Denmark

C) New Zealand

D) United States

Answer:  A
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4) Most small and medium-sized enterprises (SMEs) are ________.  

A) competing only on the local level due to technological and financial constraints

B) investing heavily in world markets by offshoring their labor activities

C) contributing to their national economies through exporting 

D) attempting to avoid becoming globalized too quickly

Answer:  C
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5) Gayle Warwick Fine Linen owes its success as a global business primarily to the firm's ________.  

A) large staff in England

B) labor outsourcing in Vietnam

C) management by a French retail expert 

D) marketing message in the United States

Answer:  B
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6) Which of the following are the three dominant currencies in the world today? 

A) British pound, U.S. dollar, Hong Kong dollar 

B) Swiss franc, Japanese yen, British pound

C) Euro, Japanese yen, U.S. dollar 

D) Euro, U.S. dollar, Swiss franc

Answer:  C
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7) Most of today's world trade takes place in which three trade blocs?

A) Middle East, China, and India

B) Asia, North America, and Canada

C) European Union, Asia, and the Americas  

D) Saudi Arabia, Western Europe and the United States 

Answer:  C
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8) The European Union currently consists of how many nations?

A) 12

B) 27

C) 34

D) 46

Answer:  B
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9) Which of the following is NOT one of the Four Tigers?

A) South Korea

B) Hong Kong

C) Taiwan

D) Thailand  

Answer:  D
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10) Which of the following best explains China's success in exporting?

A) low costs and steady stream of capital 

B) geographic location in the world

C) high educational standards

D) close ties with Japan

Answer:  A
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11) Which of the following is NOT a true statement about India?  

A) India's biggest contributor to growth is its excellent infrastructure.

B) India is the world's leader for outsourced high-tech services.

C) India is the fastest-growing free-market democracy.

D) India's middle class spurs the country's growth.

Answer:  A
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12) India's economic boom is most likely a result of all of the following EXCEPT ________.

A) educated workers

B) foreign investment

C) increasing deregulation

D) government leadership

Answer:  D
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13) In 2008, India joined a free-trade agreement known as ________. 

A) SAARC

B) ASEAN

C) NAFTA

D) MERCOSUR

Answer:  B
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14) Which of the following is a true statement about China?  

A) China retains independence by refusing to join the World Trade Organization. 

B) Regional governments and legal systems create stability for foreign investors. 

C) China lacks access to oil, which puts the nation at risk in the near future.

D) Both foreign corporations and the Bamboo Network invest in China. 

Answer:  D
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15) Emerson is a global manufacturing company headquartered in St. Louis, Missouri. The company employs almost 130,000 workers at its 250 manufacturing facilities located in five different continents. Emerson manufactures a wide range of products including air conditioning compressors, garbage disposers, and automotive parts. Emerson's Asian operations employ over 50,000 people at manufacturing facilities in Asia. Emerson needs to build a new manufacturing facility to produce automotive parts for cars manufactured in Detroit. Emerson executives are considering whether to build the new facility in China or in the U.S. 

Which of the following, if true, supports the argument to build a new Emerson facility in China?

A) The Chinese courts recently ruled in favor of an MNC in an intellectual property rights lawsuit. 

B) The Chinese Commonwealth network is investing large amounts of capital into China.

C) China has increased Internet controls and blocked most international search sites.

D) China is revoking its membership from the World Trade Organization.

Answer:  A
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16) Emerson is a global manufacturing company headquartered in St. Louis, Missouri. The company employs almost 130,000 workers at its 250 manufacturing facilities located in five different continents. Emerson manufactures a wide range of products including air conditioning compressors, garbage disposers, and automotive parts. Emerson's Asian operations employ over 50,000 people at manufacturing facilities in Asia. Emerson needs to build a new manufacturing facility to produce automotive parts for cars manufactured in Detroit. Emerson executives are considering whether to build the new facility in China or in the U.S. 

Which of the following, if true, undermines the argument to build a new Emerson facility in China?

A) China has committed over $500 billion to infrastructure projects.

B) U.S. firms continue outsourcing service jobs despite the economy.

C) Fuel costs have risen sharply and are not expected to drop.

D) China is the world's largest exporter of manufactured goods.

Answer:  C
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17) Emerson is a global manufacturing company headquartered in St. Louis, Missouri. The company employs almost 130,000 workers at its 250 manufacturing facilities located in five different continents. Emerson manufactures a wide range of products including air conditioning compressors, garbage disposers, and automotive parts. Emerson's Asian operations employ over 50,000 people at manufacturing facilities in Asia. Emerson needs to build a new manufacturing facility to produce automotive parts for cars manufactured in Detroit. Emerson executives are considering whether to build the new facility in China or in the U.S. 

Which of the following questions is LEAST relevant to Emerson's decision regarding where to build a new facility?

A) How will China's underdeveloped infrastructure affect Emerson's ability to manufacture and ship products?

B) How is China's political and economic agenda likely to affect Emerson's investment?

C) What is the likelihood of expropriation occurring to Emerson if it builds in China?

D) How will e-commerce affect Emerson's ability to export products from China?

Answer:  D
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18) Which of the following is NOT a true statement about the Mexican trading environment?

A) Mexican trade policy is among the most open in the world.

B) Trade with the U.S. and Canada has tripled since NAFTA was ratified.

C) In recent years, almost 85% of Mexico's exports go to the United States.

D) Under NAFTA regulations, Mexico may only trade with the U.S. and Canada.

Answer:  D
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19) The countries of Costa Rica, Guatemala, and Honduras belong to ________. 

A) NAFTA

B) ASEAN

C) CAFTA

D) MERCOSUR

Answer:  C
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20) Which of the following developments in global business has had the greatest effect on international managers in recent years? 

A) information technology  

B) political unrest

C) increased nationalism

D) ethnic strife

Answer:  A
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21) What is the primary concern among citizens in developed economies regarding the outsourcing of non-manufacturing jobs?

A) tax processing

B) supply chains

C) quality control

D) job retention

Answer:  D
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22) Dell most likely offshores product support service jobs to India because of the ________.  

A) superior technical knowledge of Indian workers 

B) extensive call center experience of Indian workers

C) lower payroll costs associated with Indian workers

D) customer preference for interacting with Indian workers 

Answer:  C
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AACSB:  Use of IT

23) Which of the following terms refers to adopting business strategies that meet the current needs of the firm and also protect and enhance the human and natural resources that will be needed in the future?  

A) globalization

B) sustainability

C) protectionism

D) nationalization

Answer:  B
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24) Which of the following is the greatest risk affecting most FDI decisions? 

A) government regulation

B) political disturbances

C) security threats

D) IT disruption

Answer:  A
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25) Political risks are best described as any governmental actions or politically motivated events that ________.   

A) suggest the firm is legally responsible for specific wrongdoings 

B) negatively affect the firm's long-run profitability or value   

C) interfere with the personal safety of the firm's employees

D) harm the firm's capacity to meet consumer demands

Answer:  B
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26) Which of the following best describes nationalization?  

A) negative public opinion regarding the actions of an MNC

B) hiring preferences given to locals rather than expatriates 

C) government's gradual and subtle actions against a firm

D) forced sale of an MNC's assets to local buyers  

Answer:  D
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27) ________ occurs when the local government seizes the foreign-owned assets of the MNC and provides inadequate compensation.

A) Nationalization

B) Expropriation  

C) Confiscation

D) Repatriation

Answer:  B
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28) Expropriation is most likely to occur in a country that has ________. 

A) numerous MNCs in operation

B) constant political upheaval and change 

C) poor education and economic development

D) stable economic growth and political consistency

Answer:  B
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29) Suppose the government of Karakozia seizes all assets of Pepsi in Karakozia without offering any compensation to the company. This action on the part of the government is an example of ________.

A) nationalization

B) repatriation

C) expropriation

D) confiscation 

Answer:  D
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30) Events that affect all foreign firms doing business in a country or region are called ________.

A) macropolitical risk events  

B) micropolitical risk events

C) country risk events

D) regional risk events

Answer:  A
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31) Zagreb Inc., negotiates a multi-million dollar contract with the government to provide electricity to country X. The government is voted out of power shortly after. The new government changes the contracts it has with all oil companies but not contracts with firms in other industries.  This is an example of ________.

A) barriers to repatriation

B) expropriation

C) macropolitical risk

D) micro political risk 

Answer:  D
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32) Intel is attempting to do business in Brazil, but the Brazilian government purposely delays granting Intel the necessary licenses and permissions required to do business in the country. Which of the following best describes this situation?    

A) creeping expropriation 

B) nationalization

C) barriers to repatriation

D) confiscation

Answer:  A
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33) Micro political risk events are those that affect ________.

A) multiple industries and companies

B) several other nations in the same region

C) one industry or company or a few companies  

D) managers and employees who are nationals

Answer:  C
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34) All of the following are typical political risk events common today EXCEPT ________.

A) loss of technology or intellectual property rights 

B) violence against foreign firms for political purposes 

C) discriminatory treatment in the application of laws

D) interference in managerial decision making

Answer:  B
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35) Expropriation of corporate assets without prompt and adequate compensation is an example of ________.

A) economic risk

B) political risk  

C) legal risk

D) cultural risk

Answer:  B
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36) Risk assessment by multinational corporations usually takes two forms: ________ and ________.

A) outside experts; media reports

B) outside consultants; internal staff  

C) internal staff; foreign publications

D) government reports; computer modeling

Answer:  B
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37) Which of the following is considered the most important resource for an MNC's political risk assessment?

A) government agencies

B) broadcast media

C) outside experts

D) line managers 

Answer:  D

Diff: 2
Page Ref: 23

Chapter:  1

Skill:  Concept

38) All of the following are considered the primary political risks for global manufacturing firms EXCEPT ________.  

A) nationalization

B) currency issues

C) import restrictions

D) export restrictions

Answer:  A
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39) For autonomous international subsidiaries, most of the impact from political risks will be in which of the following areas?

A) financial operations 

B) ownership and control  

C) marketing and sales operations

D) managerial strategy and policy-making

Answer:  B
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40) For global corporations, the primary impact of political risks is likely to be on the firm's ________.

A) ownership and control

B) marketing and sales

C) transfers and exchanges

D) managerial strategy and policy making

Answer:  C
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41) Which of the following methods is NOT a form of adaptation to the political regulatory environment?

A) participative management 

B) equity sharing

C) localization

D) hedging  

Answer:  D
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42) Which of the following is NOT one of the primary methods of managing political risk?

A) dependency

B) adaptation

C) gainsharing

D) hedging

Answer:  C
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43) Which of the following is a method of dependency?

A) local debt financing 

B) development assistance

C) equity sharing

D) position control

Answer:  D
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44) Suppose GE initiates a joint venture with a local company in Mexico as a way of adapting to risk. Which of the following strategies is GE most likely using?

A) equity sharing  

B) participative management

C) localization of the operation

D) development assistance

Answer:  A

Diff: 2
Page Ref: 23

Chapter:  1

Skill:  Application

45) Which of the following requires that the firm actively involve nationals in the management of the subsidiary?

A) equity sharing

B) participative management  

C) localization of the operation

D) development assistance

Answer:  B
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46) Companies often reduce risk in foreign countries by creating dependency of a subsidiary on the host country.  Which of the following is NOT a means of maintaining dependency?

A) market control

B) equity sharing  

C) staged contribution strategies

D) position control

Answer:  B
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47) ________ means that the firm maintains control over raw materials, components, technology, and know-how.

A) Input control  

B) Market control

C) Position control

D) Bureaucratic control

Answer:  A
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48) Which of the following requires that a firm keep control of the means of distribution?

A) input control

B) market control

C) position control

D) bureaucratic control

Answer:  B
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49) An MNC located in Taiwan only fills key subsidiary management jobs with expatriates or home-office managers. The MNC is exercising ________.  

A) input control

B) market control

C) position control  

D) bureaucratic control

Answer:  C
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50) When GM does not allow its subsidiary manufacturing company in China to sell the Chinese-made cars outside of China, GM is exercising ________.

A) input control

B) position control

C) hedging

D) market control 

Answer:  D

Diff: 2
Page Ref: 24

Chapter:  1

Skill:  Application

51) If a U.S. firm borrows money from a host country bank as a hedge against being forced out of operation without adequate compensation, the firms is managing political risk with ________.

A) local debt financing 

B) position control

C) development assistance

D) adaptation

Answer:  A
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52) Political risk insurance and local debt financing are both forms of ________.

A) input control

B) adaptation

C) equity sharing

D) hedging  

Answer:  D
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53) Which of the following is a form of hedging?

A) staged contribution strategies

B) development assistance

C) local debt financing  

D) localization of the operation

Answer:  C
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54) All of the following are methods of managing terrorism risks by MNCs located in high-risk countries EXCEPT ________.  

A) making contributions to local charities

B) flying only U.S.-based airlines

C) assembling counterterrorism teams

D) maintaining low corporate profiles

Answer:  B
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55) Which of the following is a true statement regarding economic risk?  

A) Even minor exchange-rate shifts place a country at economic risk.

B) Undeveloped countries pose very little economic risk for MNCs.

C) Industrialized nations have a significant risk of economic instability.

D) Financial troubles in the U.S. can put the world economy at risk. 

Answer:  D
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56) A country's ability or intention to meet its financial obligations determines its ________ risk.

A) economic 

B) legal 

C) political 

D) country 

Answer:  A
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57) In 1998, what occurred as a result of the Russian ruble being devalued?  

A) The price of goods imported into Russia dropped.

B) The price of goods imported into Russia increased. 

C) Russian firms had more buying power overseas. 

D) Foreign firms stopped outsourcing to Russia.

Answer:  B
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58) If the Mexican peso is devalued, then an MNC operating in Mexico will most likely have to ________.

A) repatriate less profits in dollars

B) pay more local and federal taxes

C) shut down operations in Mexico

D) hire fewer locals and more expatriates

Answer:  A
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59) John Mathis' four recommended methods of analyzing economic risk include all of the following EXCEPT the ________ approach.

A) quantitative 

B) automatic

C) qualitative 

D) checklist 

Answer:  B
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60) Which of the following is NOT a generally accepted method of assessing the credit worthiness of a country?

A) quantitative approach

B) survey approach  

C) qualitative approach

D) checklist approach

Answer:  B

Diff: 2
Page Ref: 25

Chapter:  1

Skill:  Concept

61) The ________ method of analyzing economic risk attempts to measure statistically a country's ability to honor its debt obligation.

A) quantitative  

B) qualitative

C) checklist

D) objective

Answer:  A
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62) Which two factors are primarily assessed when using the qualitative approach to measure a country's economic risk?

A) the country's natural resources and its long-term national debt

B) the competence of the country's leader and the economic policy direction 

C) the probability of terrorism and the likelihood that the country's debts will be repaid 

D) the country's purchasing power overseas and the consistency of the country's leadership

Answer:  B
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63) Representatives of a MNC seek an interview with local government leaders in the Department of Commerce in India with a view to assess the types of policies likely to be implemented.  According to Mathis, this is an example of ________.

A) qualitative approach 

B) quantitative approach

C) checklist approach

D) a combination of all of the above

Answer:  A
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64) The ________ approach to analyzing economic risk relies on a few easily measurable and timely criteria believed to reflect or indicate changes in the credit worthiness of the country.

A) qualitative

B) checklist  

C) quantitative

D) combination 

Answer:  B
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65) Which of the following best explains why many foreign companies in China experience significant financial losses?  

A) China lacks the financial and legal systems needed to support the country's foreign trade. 

B) China's local market is not large enough to support its extensive exporting to the U.S.

C) China's government mandates that workers receive high wages and benefits.

D) China's exchange rate changes too frequently for U.S. businesses to compete.

Answer:  A
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66) The situation faced by Mr. David Ji, the Chinese-American electronics entrepreneur, in his dispute with China's largest television manufacturer illustrates ________.

A) the sophistication of the Chinese legal system

B) how the Chinese government protects its largest firms 

C) the effectiveness of guanxi in resolving a complex problem

D) how special protections are offered to American companies in China

Answer:  B
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67) Under ________, past court decisions serve as precedents to the interpretation of the law. 

A) civil law

B) common law

C) Islamic law

D) indigenous law

Answer:  B
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68) An international agreement which regulates international business by spelling out the rights and obligations of the seller and buyer is known as ________.

A) WTO

B) HCN

C) TNC

D) CISG

Answer:  D
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69) ________ is based on a comprehensive set of laws organized into a code.

A) Islamic law

B) Civil law  

C) Common law

D) Contract law

Answer:  B

Diff: 1
Page Ref: 26

Chapter:  1

Skill:  Concept

70) Japan and about 70 countries in Europe are ruled by ________ law.

A) common

B) Islamic

C) civil  

D) judicial

Answer:  C
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71) Which of the following terms refers to an agreement by the parties concerned to establish a set of rules for governing a business transaction?

A) procedure

B) policy

C) contract  

D) concept

Answer:  C
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72) In order for a contract to be enforced in a country ruled by ________ law, the details of the promises must be specified in the contract. 

A) common

B) policy

C) civil

D) international 

Answer:  A
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73) In the context of doing business in Asia, what is meant by the phrase "the contract is in the relationship, not on the paper"?

A) Asian contracts are not legally binding for MNCs.

B) Contracts are ceremoniously destroyed after they are written.

C) Managers risk being offensive to Asians by requiring contracts. 

D) Managers should nurture the relationship to ensure the reliability of the contract. 

Answer:  D
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74) Tariffs and quotas are examples of what types of policies?

A) economic development 

B) protectionist  

C) free market

D) globalization

Answer:  B
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75) Which of the following is a true statement about Canada?  

A) The Canadian government plays a limited role in industry, which is why the country draws numerous foreign investors. 

B) The Canadian government owns businesses in the energy, telecommunications, and transportation industries.

C) The Canadian government requires bilingualism throughout the country, but foreign subsidiaries are exempted. 

D) The Canadian government does not allow workers to form or join organized labor unions. 

Answer:  B
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76) The appropriability of technology is best defined as ________.  

A) any technology that has been illegally confiscated from a firm by a foreign government

B) the likelihood that a firm's technology will generate long-term profits

C) how easily new technology can be learned and used by host nation employees

D) the ability of a firm to protect its technology from competitors and to profit from that technology 

Answer:  D
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77) Less developed countries most likely use their investment laws for all of the following reasons EXCEPT ________.

A) training local people 

B) increasing exports

C) acquiring needed technology

D) controlling the flow of technology

Answer:  D
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78) Which type of country is most likely to use its investment laws to acquire appropriate technology?

A) post industrial

B) newly industrializing

C) less developed  

D) highly developed

Answer:  C
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79) Which of the following questions is LEAST relevant to a global manager who is considering what technology is appropriate for the firm's business operations in a less developed country? 

A) How has the same technology benefited the firm's operations at its national headquarters?

B) What will be the consequences of a technology transfer on local employees' behavior and values? 

C) What are the host government's regulations and requirements regarding technology transfer?

D) What are the training needs of the local employees who will be using the technology?

Answer:  A
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80) The Paris Union was established for the purpose of ________. 

A) enforcing contract laws

B) reducing trade barriers

C) protecting patents  

D) reducing pollution

Answer:  C
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81) Some countries rigorously enforce employee secrecy agreements in order to ________.  

A) protect a firm's intellectual property 

B) limit the influence of organized labor

C) avoid litigation between competing firms

D) strengthen international contract laws

Answer:  A
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82) Robert is an employee for a U.S. firm, and he manages the firm's operations at its facility in Ecuador. Robert is considering the idea of installing new technology to the facility that would significantly improve productivity and reduce labor costs. Which of the following undermines the argument that Robert should install the new technology?  

A) Ecuador's government leaders encourage firms to install the most modern machinery available.

B) The high school graduation rate in Ecuador is higher than that in neighboring countries.

C) Ecuador is currently experiencing a very high rate of unemployment.  

D) The firm's competitors recently installed the same technology.

Answer:  C
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83) Which of the following terms refers to the integration of systems, processes, organizations, value chains, and entire markets using Internet-based technologies? 

A) globalization

B) e-business

C) integration

D) geocentrism

Answer:  B
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84) The selling of goods or services over the Internet is known as ________.  

A) e-commerce

B) international business

C) information technology

D) electronic franchising

Answer:  A
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85) According to experts, which of the following transactions is expected to offer the greatest opportunities for small, medium-sized, and large global firms in the near future? 

A) consumer-to-business

B) business-to-employee

C) business-to-consumer

D) business-to-business

Answer:  D
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86) All of the following are obstacles to e-commerce EXCEPT ________.  

A) language differences

B) varying tax systems

C) disinterested consumers 

D) inadequate technical capabilities 

Answer:  C
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87) Experts suggest that firms that want to globalize through e-commerce must first localize, which means that firms need to ________. 

A) use local suppliers, vendors, and distributors to manufacture products for the local market

B) modify their products and services to meet the needs and interests of local cultures

C) sell their products in a brick-and-mortar store before selling them through an e-market 

D) test their products and services in local markets before selling them over the Internet

Answer:  B
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88) What is the European Union (EU)? Discuss how the EU affects both Europe and international managers working in Europe.  

Answer:  The E.U now comprises a 27-nation unified market of over 400 million people. Since the euro became a legally tradable currency, Europe’s business environment has been transformed. The vast majority of legislative measures have been adopted to create an internal market with free movement of goods and people among the EU countries. The elimination of internal tariffs and customs, as well as financial and commercial barriers, has not eliminated national pride.

Global managers face two major tasks in the EU. One is strategic: How firms outside of Europe can deal with the implications of the EU and of what some have called a "Fortress Europe"—that is, a market giving preference to insiders. The other task is cultural: How to deal effectively with multiple sets of national cultures, traditions, and customs within Europe, such as differing attitudes about how much time should be spent on work versus leisure activities.
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89) How would you characterize the Chinese economy today?

Answer:  Having achieved its quest to join the World Trade Organization (WTO) in 2002, China's gross domestic product (GDP) growth rate (10.7% in 2006) has been the fastest growth rate in the world for several years.  Its low wage workers and vast consumer market have attracted offshoring of manufacturing from companies around the world. The country, however, seems stuck halfway between a command economy and a market economy, with both private and public sector firms operating simultaneously.  China attracts considerable foreign investment despite arbitrary legal systems and underdeveloped infrastructure. 
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90) What is SAARC?

Answer:  SAARC stands for South Asia Association of Regional Cooperation - an association of seven developing South Asian nations.  According to the Agreement that was effective January 1, 2006, the countries will lower tariffs by 25% within three to five years and eliminate them within seven years.  Trade in South Asia is estimated at $14 billion, although the majority of that trade will take place between India and Pakistan, the two largest members.  
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91) What is the purpose of the North American Free Trade Agreement (NAFTA)? Do you think it has been effective? Why or why not? 

Answer:  The goal of the NAFTA was to bring faster growth, more jobs, better working conditions, and a cleaner environment for Mexico, Canada and the U.S. as a result of increased exports and trade.  From Mexico’s perspective, the country’s exports have exploded under NAFTA, quintupling to $292 billion in 2008, but Mexico is still exporting people too, almost half a million each year, seeking opportunities in the United States. However, Mexico’s dependence on the United States for its exports—NAFTA’s greatest success—has become a liability, as Mexico feels the full brunt of declining consumption in the United States. Overall, many feel that attracting MNCs was short-sighted for an overall strategy—in particular because their low wages have perpetuated poverty and therefore also low purchasing power, thus weakening the economy. 
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92) Why have foreign investors recently become wary of Russia?

Answer:  Until recently, Russia has been regarded as more politically stable.  New land, legal, and labor codes, as well as the now-convertible ruble, have encouraged foreign firms to take advantage of opportunities in Russia, especially given the vast natural resources and well-educated population.  Things have changed however.  As the Financial Times article (May 16, 2006) quoted in the chapter states — "The investment climate is clouded by the increasing willingness…of the Russian government to intervene in the economy."  This intervention was aptly illustrated by the breakup of the Yukos oil group.  In addition, about two dozen companies have come under the control of the Kremlin in the last few years, including newspapers and banks. 
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93) What is globalization? What is the relationship between globalization and information technology?

Answer:  Globalization is defined as global competition characterized by networks of international linkages that bind countries, institutions, and people in an interdependent global economy.  Information technology, more than anything else is making those networks of international linkages more possible by boosting the efficiency of that "connectedness."  The Internet is propelling electronic commerce around the world.  Companies around the world are linked electronically with employees, customers, distributors, suppliers, and alliance partners in many countries making the world a global marketplace.  
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94) What elements in the business environment influence the international manager's role?

Answer:  Within the larger context of global trends and competition the international manager will be influenced by a country's political and economic agenda, its technological status and level of economic development, its regulatory environment, its competitive and comparative advantages, and its cultural norms.  The astute manager should assess this new environment, anticipate how it may affect the future of the home company, and then develop appropriate strategies and operating styles.  
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95) How does the phenomenon of ethnicity affect the international manager?

Answer:  Ethnicity is a driving force of political instability around the world. Many uprisings and conflicts are expressions of differences in ethnic groupings and religious disputes often lie at the heart of those differences.  Managers must understand the ethnic and religious composition of the host country in order to anticipate problems of general instability as well as those of an operational nature- such as effects on their workforce, on production and access to raw materials and also the market as a whole.  
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96) What is political risk?  Give an example of how political risk can affect an MNC.

Answer:  Political risks are any government action or politically motivated event that could adversely affect the long run profitability or value of the firm.  For example, Bolivia nationalized its natural gas industry ordering foreign companies to give up control of fields and accept much tougher operating terms within six months or leave the country.  
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97) What is the primary difference between expropriation and confiscation?

Answer:  Under expropriation, companies receive inadequate compensation for their assets that were seized by the local government.  In contrast, confiscation refers to the seizure of assets where no compensation is provided.  
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98) Briefly explain the difference macro and micro political risks.

Answer:  Macropolitical risk events affect all foreign firms doing business in a country or region. In the Middle East, Iraq’s invasion of Kuwait in 1990 abruptly halted all international business with and within both of those countries and caught businesses wholly unprepared. In contrast, micropolitical risk events affects one industry or company, or only a few companies.  
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99) Identify seven of the most typical political risk events that occur today. 

Answer:  Expropriation of corporate assets; forced sale of equity to host country nationals; discriminatory treatment in the application of laws; barriers to repatriation of funds; loss of technology or intellectual property; interference in managerial decision making; dishonesty by government officials.  
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100) Identify and describe four means of political risk adaptation.

Answer:  The four means of political risk adaptation are: equity sharing — shared ownership or partial ownership with nationals; participative management — actively involve nationals in the management of the firm; localization of operations — modifications to the company's management style, company name, etc. to accommodate national issues; and development assistance — corporate aid for infrastructure development.  
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101) Identify and describe four means of maintaining dependency between corporations and host nations.

Answer:  The four means are: input control — firm maintains control over key inputs, market control — firm maintains control over key markets, position control — firm controls key management positions in the subsidiary operation, and staged contribution strategies — firm announces plans to increase in successive years its contributions to the host government.  
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102) What are the two most common methods of hedging political risks?

Answer:  Political risk insurance and local debt financing are the two means of hedging.  In the U.S., political risk insurance is provided by the Overseas Private Investment Corporation (OPIC).  Insurance coverage is provided for the inability to repatriate profits, expropriation, nationalization, confiscation, and for damage as a result of war, and terrorism.  The Foreign Credit Insurance Association (FICA) covers political risks caused by war, revolution, currency incontrovertibility, and the cancellation of import or export licenses.  Political risk insurance covers the loss of a firm's assets, not the loss of revenue resulting from expropriation.  The second means of hedging is local debt financing which refers to money borrowed in the local country.  The firm would hedge its risk by withholding debt payment in lieu of sufficient compensation for its business losses.
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103) How do companies manage terrorism risk?

Answer:  Some companies such as IBM and Exxon try to develop a benevolent image in high-risk countries through charitable contributions to the local community, maintain low profiles and minimize publicity in host countries by using discreet corporate signs at company sites.  Companies also step up their security measures, hire consultants in counter-terrorism, and train employees to cope with the threat of terrorism.  
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104) What are the two most common forms of economic risk to a company?

Answer:  The two forms of economic risk to a subsidiary are 1) the risk that the government will abruptly change its domestic monetary or fiscal policies, or 2) the risk that the government will modify its foreign investment policies.  The second risk would threaten the company's ability to repatriate its earnings and would create a financial or interest-rate risk.  
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105) What is currency translation exposure? Provide an example to illustrate your answer.  

Answer:  Currency translation exposure occurs when the value of one country's currency changes relative to another.  For example, a U.S. company operating in Mexico at the time of the peso devaluation in the late 1990s meant that the company's assets in that country were worth less when translated into U.S. dollars.  The company's liabilities were, however, also less.  
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106) According to Mathis, what are the four methods of analyzing economic risk? Which method is most commonly used by corporations?

Answer:  The four methods are:  quantitative (the country’s ability to honor its debt obligation; qualitative (analyzing the types of policies the country’s leaders are likely to implement); a combination of both qualitative and quantitative; and the checklist approach (use of a few easily measurable and timely criteria). Most corporations recognize that no single approach can provide a comprehensive economic risk profile of a country. Therefore, they try to use a combination of approaches.
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107) What is the difference between common law, Islamic law, and civil law?

Answer:  In common law, past court decisions act as precedents to the interpretation of law.  Civil law is based on a comprehensive set of laws organized into a code.  Interpretations of civil law are based on reference to codes and statutes.  In Islamic countries, such as Saudi Arabia, the dominant legal system is Islamic law; based on religious beliefs, it dominates all aspects of life. Islamic law is followed in approximately 27 countries and combines, in varying degrees, civil, common, and indigenous law.
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108) How does the government regulate business in Canada? How do these regulations affect foreign subsidiaries?  

Answer:  The Canadian government partly or wholly owns many corporations in the transportation, petrochemicals, steel, and building materials industries.  The government’s role in the Canadian economy, then, is one of both control and competition. Government policies, subsidies, and regulations directly affect the manager’s planning process. For example, in Quebec, the law requiring official bilingualism imposes considerable operating constraints and expenses. For a foreign subsidiary, this regulation forces managers to speak both French and English and to incur the costs of language training for employees, and translators.
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109) What methods are used by MNCs to protect intellectual property rights? 

Answer:  The most common methods of protecting proprietary technology are the use of patents, trademarks, trade names, copyrights, and trade secrets. Various international conventions afford some protection in participating countries; more than 80 countries adhere to the International Convention for the Protection of Industrial Property, often referred to as the Paris Union, for the protection of patents. However, restrictions and differences in the rules in some countries not signatory to the Paris Union, as well as industrial espionage, pose continuing problems for firms trying to protect their technology.
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110) How does the Internet facilitate both e-commerce and business-to-business transactions? 

Answer:  The Internet and e-business provide a number of uses and advantages in business-to-consumer transactions: 1. Convenience in conducting business worldwide; facilitating communication across borders contributes to the shift toward globalization and a global market. 2. An electronic meeting and trading place, which adds efficiency in conducting business sales. 3. A corporate Intranet service, merging internal and external information for enterprises worldwide. 4. Power to consumers as they gain access to limitless options and price differentials. 5. A link and efficiency in distribution. Although most early attention was on e-commerce, experts now believe the real opportunities are in business-to-business (B2B) transactions where the Internet offers assistance with supply chain, procurement, and distribution channel.
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111) In a brief essay, discuss the effect of information technology on both globalism and international managers.

Answer:  Of all the developments propelling global business today, the one that is transforming the international manager’s agenda more than any is the rapid advance in information technology (IT). The speed and accuracy of information transmission are changing the nature of the global manager’s job by making geographic barriers less relevant. Indeed, the necessity of being able to access IT is being recognized by managers and families around the world, who are giving priority to being "plugged in" over other lifestyle accoutrements. Information can no longer be totally controlled by governments; political, economic, market, and competitive information is available almost instantaneously to anyone around the world, permitting informed and accurate decision-making. Even cultural barriers are being lowered gradually by the role of information in educating societies about one another. The explosive growth of information technology is both a cause and an effect of globalism. The information revolution is boosting productivity around the world. Use of the Internet is propelling electronic commerce around the world. Companies around the world are linked electronically to their employees, customers, distributors, suppliers, and alliance partners in many countries. There is no doubt, however, that the Internet has introduced a new level of global competition by providing efficiencies through reducing numbers of suppliers and slashing administration costs throughout the value chain. The Internet and e-business provide a number of uses and advantages in global business, including the following:

1. Convenience in conducting business worldwide; facilitating communication across borders contributes to the shift toward globalization and a global market.

2. An electronic meeting and trading place, which adds efficiency in conducting business sales.

3. A corporate Intranet service, merging internal and external information for enterprises worldwide.

4. Power to consumers as they gain access to limitless options and price differentials.

5. A link and efficiency in distribution. 
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112) What methods are used by international managers to minimize political risks for the firm? How do managers determine which method is the best choice?   

Answer:  After assessing the potential political risk of investing or maintaining current operations in a country, managers face perplexing decisions on how to manage that risk. If a firm decides that the risk is relatively low in a particular country or that a high risk environment is worth the potential returns, they may choose to start (or maintain) operations there and to accommodate that risk through adaptation to the political regulatory environment. That adaptation can take many forms, each designed to respond to the concerns of a particular local area. Adaptation may occur through equity sharing, participative management, localization of the operation, or development assistance. Two other means of risk reduction available to managers are dependency and hedging. Some means that managers might use to maintain dependency—keeping the subsidiary and the host nation dependent on the parent corporation—are as follows: input control, market control, position control, or staged contribution strategies. Finally, even if the company cannot diminish or change political risks, it can minimize the losses associated with these events by hedging. Some means of hedging include political risk insurance and local debt financing. 

To make effective decisions, an international manager must understand the rules of the game that are set by each country: its political and economic agenda, its technological status and level of development, its regulatory environment, its comparative and competitive advantages, and its cultural norms. The astute manager will analyze the political environment, anticipate how it may affect the future of the company, and then choose the best option for minimizing political risks. 
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113) In a brief essay, discuss the four methods of analyzing economic risk that are recommended by John Mathis, a former senior financial policy analyst for the World Bank.

Answer:  The four methods for analyzing economic risk include: (1) the quantitative approach, (2) the qualitative approach, (3) a combination of both qualitative and quantitative approaches, and (4) the checklist approach.

The quantitative approach "attempts to measure statistically a country's ability to honor its debt obligation."  This measure is arrived at by assigning different weights to economic variables to produce a composite index used to monitory the country's creditworthiness over time and to make comparisons with other countries.  The qualitative approach evaluates a country's economic risk by assessing the competence of its leaders and analyzing the types of polices they are likely to implement.  This approach entails a subjective assessment by the researcher in the process of interviewing those leaders and projecting the future direction of the economy.  The checklist approach "relies on a few easily measurable and timely criteria believed to reflect or indicate changes in the creditworthiness of the country."  Researchers develop various vulnerability indicators that categorize countries in terms of their ability to withstand economic volatility.  
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114) In a brief essay, discuss common law, civil law, Islamic law, and contract law. How does each affect business opportunities for MNCs and the decisions of international managers?

Answer:  Common law is used in the United States and 26 other countries of British origin or influence.  Under common law, past court decisions or precedents are used to interpret current situations.  Civil law, used in about 27 countries (mostly in Europe), is based on a comprehensive set of laws organized into a code.  Islamic law is based on religious beliefs and combines aspects of common, civil, and indigenous law.  Islamic law is followed in approximately 27 countries (such as Saudi Arabia).  International managers must be keenly aware of the legal infrastructure of the cultures they operate in and do everything possible to anticipate legal problems and difficulties before they occur.  The legal structure of a nation has a profound impact upon behavioral patterns within the nation. A contract is an agreement by the parties concerned to establish a set of rules to govern a business transaction. Contract law plays a major role in international business transactions because of the complexities arising from the differences in the legal systems of participating countries and because the host government in many developing and communist countries is often a third party in the contract. Both common law and civil law countries enforce contracts, although their means of resolving disputes differ. Under civil law, it is assumed that a contract reflects promises that will be enforced without specifying the details in the contract; under common law, the details of promises must be written into the contract to be enforced. Astute international managers recognize that they will have to draft contracts in legal contexts different from their own, and they prepare themselves accordingly by consulting with experts in international law before going overseas. Western companies often think they can avoid political risk by spelling out every detail in a contract, but in Asia, the contract is in the relationship, not on the paper. The way to ensure the reliability of the agreement is to nurture the relationship.
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115) What are the common types of protectionist policies used by foreign governments?  How do such policies affect global trade and MNC opportunities?

Answer:  The most common types of protectionist policies are tariffs, quotas, and other types of trade restrictions imposed by countries to give their products and industries a competitive advantage.  These protectionist policies raise the prices and/or restrict the quantities of imported goods thus making them more expensive to consumers and less competitive with local products.  A country’s tax system influences the attractiveness of investing in that country and affects the relative level of profitability for an MNC. Foreign tax credits, holidays, exemptions, depreciation allowances, and taxation of corporate profits are additional considerations the foreign investor must examine before acting. 
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